Yed T qerfiant TNaRiUT SIfe (NTPC)
Tdeh W gdet

1st Stage (Computer Based Test)

Held on : 04.04.2016 Shift : 3

1. P 70 Tie it AT HIET &1 I€ U AT T
3T 9T 30 TR, /=ier aur anfer 3meft amw
40 T, /e &t nifq @ T, HAT &1 SHAT

JTAT Skt el T AT RIS
(a) 2000 fo.H. (b) 2400 f5.H.
(c) 2720 fo.H. (d) 2160 f5.H.
Ans : (b) HFT &I IET & FHeT gli= xfH0HI0
7Y 9-
X2 X124
30 40
=2 X _70x2=140
30 40
4x+3x:140
= 7x =140x120
_ 140120 460 frorio
2. P U& & &l 30 {1 H U0 &< Wehell 1 SE
®HW @ Q 40 foAt W @or R 50 foi o aw
Hehal €1 Af¢ I Teh WY T hid ¢ af feha
fet & 29 T Ry U /T AN
(a) 47/600 fa= (b) 10 fea
(c) 12 f& (d) 600/47 f&=
2 (d)

111
(P+Q+R)am@sﬁ=rwm 2020750
_20+15+12 47
600 600
(P+Q+R) & T &M & § &M T9

__ 16w
T 47/600 47

3. & "Eeh @ HCF 3 LCM shusT: 29 3R
435 ) Ofe wew W@ 145 ¥, o Al G
ELIEA
(a) 58 (b) 87
(c) 29 (d) 23

ns : (b) Y- TEeA HOxTH HO==10H0xHOH0
145xgE{ H0=435%29

o o= 59X _ 435 _ )

145 5

4. 9 F WUW 20 U T T &
(a) 86.5 (b) 87.5
(© 935 (d) 94.5

(d) fEm &- 9, 18, 27,

Ans :

S

n

%(a+l)

S, 20(9+180) a=Yoq 98

[ =afm 1=

sty s - 10X189 1890
20 20
Forder (wv= g 5-7 @R ) : e fou T e
T LTI T AR I T AMATRT FATedt oh
SCIEKA
A = Ttrett @t THT A o SRt sl guTiar
2
O =W ! UHE I aTet ¥Rl aht goTtar
2l
0 = WISUTH S THE i Il SATTRal i
ggTter g
frew T
A qT SR

|, IS U TS

T A HAfh
5. T @ @1 fhed 3R Wi U6 § W

ISR &l ?

89

(@) 53 ®) 21
(c) 32 (d) 44
‘Ans: (c) 34T F&=& = 32 ‘
6. TeRax @M it wEH UHT €7
@) 142 b) 166
(c) 133 (d) 145
Ans: (b)

WY qHE A A A A H0=32+69+44+21 = 166

=g ToRet wei?
(a) 43 (b) 44
© 21 d 32
Ans : (b)@?ﬁ"'ﬁﬁﬁ.mmaﬁ(w

79 8 W feeH T = 44
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8. e TH wuA % W] Fw frwd g T R
AU TH HIT hl T AT &, ¥ & I8
HHTIA: AT G4 & 91 el T2 @i a3t A7
iRt org Tarifa e § T fau o et § 9
W W IR 3@ HUT HT Allcher ®T 9
STTETT AT B
HYT: AT TR o AT 3T B
forseret 1: Tt Torer @0 OAT A B

I : ErgT ETfehrah 8
(a) FHad e 1 SFET L 2
(b) el frswe 11 STEROT e 2
(c) 1 3T &4 SIaeoT % & |
(d) 1311 2T Srawer 78 F3 71

:ﬁXIOO =70.21%
460

gqq 1 T 3%

_BSH65484460 |00 294 00 o
460 460

TesTT o1 JfTd 37

_85+66+95450 (00 296 |00 e
460 460
W8 I G 3
_ 75477485440 1002277 100 = 60.21%

460 460

SISt 1 MfeeTd 3feh=

258

=wx100=4—60><100 —56.08%

460
[Ans : (&) F7 % AR A Frod TR T 4 F || oy o1 @ sve 39 6 BH T 60% & A siF W
TIE9T (U9 HEET-9- 1170 ) : (W1 ATieTaRT &7 | |33 &)
e Y 3N IW W NG FaATell o TS | 10, oiell § et WiaoTd ek o HIOCr § B hell §
& T T UT ET7
Tk wdtem W fafirer fwet o st g oA (a) o (b) fRm
3fes frer fag g 2 (c) & (d) wesT
faw Ans : (b) W &1 AfavE 3% Ha@1 § GIW gl 2|
B |Oaa [T | oe | T || |STa 59 @ SR 4 |
(120 Hfwm= | (1207 [(100 F )| 11 Tt oW fowear o e gRT SAfSA fh ey
) (120 ® /) e w82
) (a) 65.3 (b) 713
e o5 3 = - () 68.3 d 735
g 105 84 42 80 Ans : (d) ¥ o S sim= o0 T 09 +84+60
fermT 95 65 73 90 294
g | 85 65 84 60 =03
o=t 85 66 95 50 12. Tohrd QTCT 9TTER A ATSTHES SaTET ¢ 2
WS 75 77 85 40 (a) VESTEl (b) g
EIE] 65 38 75 80 (c) iR (d) 3R
9. ToraY ST 3 UHET T 60% | AT 3k orfeid | |Ans ¢ (a) TSR ARG b AN Rl § fod w foea
forT &7 SR HoR 81 T O g W RS (1628~
(@) 7 (b) 6 1658 ) 7 T TSN A A AR FH HEwEN Tl
() S (d) 4 e 1 0T A 9Tl T HeAlhR 3EE 2T80e
Ans: (b) ﬁwwgwwq%zﬁ?zﬁm%ﬁ
. 95+53+61+70 T 4 Tyl -
S T S e 1204120100 Al A, faeedl 1 ST A |
279 13. 9 $8 &Y AR Ak ¢ Y 5hd {GU T

=——x100=60.65%
460

st g ofi &1 sl m=wxloo

31002 67.60%
460

ferm =1 ufae 34'35=—95+654J6FO73+90><100

2 AR T HAAT I T AEAAT &, Wl &0
HATTA: AT d281 o 9 A T8 @1 &8 3%
iRt org Terifa e § T fau o st & @
WA G FT HAA T Alicher €T W FATE
HAT &
HAT: A T TEfne @R
B gt & ad ¥
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freerd : 1 3 oft o wEfRe = 21
Il F &N AZhRe 2
(a) *heret forhs 1 SERT 3T 21
(b) Faa T 11 T H 2
(c) 1 31T <41 SIawor % |
(d) 1311 AT SFawer T8 3 § |
Ans : (b)

I- % off 99 Efra 7@ 2 ()

1I- $3 F1 wEfFa V)

;e Ry 11 STER0T H3 2
T WY g nfereha Wy SHEEe ®0 9
SUCTST JMEf-eh HIZEhIdsl AT ehi gl STl
9]'[_

(a) TSRS (b) Wriq

(¢) dud (d) A™ET

Ans : (a) THf T (Percy Spencer) NI 3Tfashd gH

FEHS 0 ¥ IUAH MY AEwied 3fad @

TS (Radarange) hgl SITdl 4T |

15. 75,73,76,79, 81, 89, AAT 51 Sl WIILAAHT ST

¥

(@ 75 (b) 76

() 79 (d) 81

(b) 3T 9 H- 51, 73, 75, 76, 79, 81, 89
n="7fe"

TfH= [%‘oﬁ q‘c:}: 4371 T8=76

14.

Ans :

16. 17/31,34/62 T 48/93 Tl LCM FTd ST
(a) 816/31 (b) 802/31
(c) 912/31 (d) 804/31
(@)
17 34 48
iagw 09

Ans :
_17,34F 48 H AOHO
" 31, 62893 FH HOHO
816
EYE
TEelt WISt W fou MU vIsdt o @@ fou U
foreheat & © Heifir gt s A

17.

ANTARCTICA
NORTH AMERICA
EUROPE

AFRICA

(a)
(b)
(©)
(d)

Ans : (b) 5 6~ CHINA, ASIA Feg # foq @ st
%R GREENLAND, NORTH AMERICA Weg # 21

18. 3TheR 3 Ueh A& @t 31T Hohd TohAT 3 el
“Wﬁ%mﬁ%m%%aﬁmnil
(a) &
A (d) U=

Ans: (d)

g & e
R p————
. TR 37ha Fl Tl %I

19. o 3 wu= feu 7w €1 sueRt g weA W
T UHEAT &, 9ol & F WWTIE: AT deE o
[T A A @ g 3R R Ty ferifRa s
% for fou 7o foreeref & @ i @1 29wl @
ATeheh & ¥ T HIAT ¢
frerd : 1 9 o0t Tig R

11 O Bfgat g 8
(a) F@Bfeai gt €1 (b) F© e =feaf 3
(c) TP aed Bfeali 31 (d) ¥ i sfef 21

Ans : (b)
)&
oWy § % 39 i sfea 8

20. or 3R W Uk HEAT AW SHeh ol 3kl &
T AH § S o o€ W HE&IT T F0T
132 &1 afe 3fal &1 T 4 B, O & AW

EdIE
() 37 (b) 84
(©) 73 (d) 62

Ans: (b) THFT AT & @S T 37k x 7T IHE & 3H

ye
S HE=10x +y

aar 10x+y+10y+x =132
I1x+11y =132

o (i) F (i) -
x=8, y=4
A & =10x+y=10x8+4 =84
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21. Uk THEHIVT BIYST o Ui i oaTg, o Bt

AT i G TS | 2 HieX w71 afe el
O Had BrEt 9 ¥ 2 iex e ol &,
ar Bt o ot &t wers o= &7
(a) 10 # (b) 13 =t
(c) 12 #t (d 74t
(a) FHT THHUT A F G B qel1= x W0
TR AABC H URITIRG 0T 9-
AC? = AB? + BC?
A

Ans :

(2x = 2) 4, (x + )t

C B
:>(2x—2)2:(x+2)2+x2
= 4x* +4-8x =x* +4+4x +x*
=2x"-12x=4-4
:>2x(x—6):O
L x-6=0=>x=6
3T &0 F AO=2x—-2=2x6-2=10H.
fra ad 2015 & fo@ 2w e grr-udEs
ATH T T o ©F | AT femam T2 or?
(a) g f=re (b) Tx A
(c) Tl Hebel (d) M g
Ans : (c) USlel el (Angela Merkel) & a8 2015 &
WWWWW 3% T S (Person of the
year) & ®9 ¥ AT fhar a1 O11 TS AhA 2005 °
S Y TR 2
2130 T 3TH 2R 8

22,

1. giMTeg 2 2016
2. T GEdq sHd 2017
3. T mistag 2018

23. 3 fooolt feom SiR-vax fow ang weielt

@it T Suewr Hieg §- fRaen gmr

FEATSATIT AT AT?

(a) RS 5 fHg fgda

(b) Hews MR

(c) RSt fovH &8

(d) @IS MR

Ans : (a):l':>F feett fod SiaX H@X (Jantar Mantar)%l"\qﬁ

e Geel Wiel o SUS HiSE @ WeRe SarE

fodlar SR e T 971 SiaX HOX IF 6T H7 S Y

2 wEE fiE 4 U Auwensh & e Reeh &

AT STAYT, oo YT I IR0 H off HEamr o

24, Trafafaa & 9 *F @1 3@l IS 1 Teh
WehR & §7
(a) THeH

(b) wE fhe

(c) fagea (d) e
Ans : (d) W= (Allogamy) 3TAfTH SoF H1 TF
TER T 1 Y Sl # weea & B % faw
fire (] @t ofe ¥ fren) sifverd 31w 39 T
ff S @ o feT e % S @ S @, g
AR S A STl S (Asexual reproduction)
Fed 2|

25.  UFTcHeR TEAT3A o Sl 3te¥ 160 § 317 3
T T ATUTA 5:3 1 AT GEATSAT ST U
AT
(a) 96000 (b) 48000
(c) 144000 (d) 72000

Ans : (2) JFT &1 GG @AW AT Sx 9 3x @

S 5x=3x =160
2x =160 = x = 80
TE H0=5x =5x80=400
ol H0=3x=3x80=240
Tt Goxgad W0=400x240
=96000
26. M qAT N FEE L T HAI: 160 TR, s

T 200 TR, /ger & T § 9 w2 Al
M, N ® 30 T 3tfires @mer ot &, o Ui

T 7 T g -
(a) 120 f.h (b) 200 .7
(c) 320 f.h (d) 400 .9
Ans: () AFT M @9 N g @@ & T gl = x
fepeio
x _x _30_1

160 200 60 2
X X 1
> — ==
20x8 20x10 2
1

X X

=—-—=—x20=10
8§ 10 2
5x—4x:10
40
= x =10x40 = 400 fH10
27. 29« = fRE 291 1 U @ €7
(a) iEes (b) &F
(c) #H (d) sFfem
Ans: (c)
o TS B
1, THeATS Tt Geata
2. &Y PeTe, LSt
3. GGl 2o 2f
4. sfre2feran fohehe
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frafafaa srerafiaa s =t g s - &
foT srafeera &
P : but we mustn’t let their glamour
Q : their products may be
R : blind us to the principles involved
S : indistinguishable from magic
3fora shA BT T
(a) SRQP
(¢) PQRS
(b)

Q — their products may be

S — indistinguishable from magic

P — but we mustn't let their glamour

R — blind us to the principles involved
et WSt W fRu U vedt & wwe fRu T
forhedt ® | Heif gt it gA|
WOODCUTTER:AXE::CHEF.............
(a) SPADE (b) PEN
(¢) KNIFE (d) NEEDLE
Ans : (c) 59 9%~ WOODCUTTER (T%g8RI), AXE
(Peerdl) § T FRA@ g W WHR CHEF (T&A
THIEET) FeA % U KNIFE (91%) ®1 SRA H3 8|

28.

(b) QSPR
(d) QRPS

Ans :

29.

30. tan (315°) T W R 7
(a) 1 (b) -1
© 1/\2 d -1/v2

Ans: (b) tan315" = tar1(3600 —450)
= —tan 45°
=-1

T & | At § oeRIRen dag= @i Uk

fafer =1 yowr W Wiet g FeftHan

Taafes &= o €, T @t & ufq aedt

yferier | og+ # Aag i st SWIT 87

(a) feaeife (b) STeamEfE

(c) ftharen (d) SemERE

Ans : (a) B & # fudh sRan gaeda & w7 fafy

H FAT Hh @il T AT ClemEies st

(Teixobactin) %, s gansii & Qﬁaﬁa gfay | Fl—s"}i

¥ Heg A & 3ulE |

32. U O 1 07 &0 fa@Ts 9 ¢ sifeh-

(a) 98 & T & YT & 999 g 3@l W
TEfid B 8

(b) TE B U1 % TeHIeT i AN B 8

(c) T & U1 & 3yerar 3= qoft Sebrer 1 Wrafda
H 2

(d) T8 BHN ST@ W ThE YHNT Bl GERid
HT 2|

[ tan(360O —6) =—tan 9]

31.

Ans : (a) 8% 99 1 7 &0 @i a1 & i 7 &
% WY B G99 gAY @l W wEfid st g1 fhed
v & Aad-is e fe T % few R e g 21
S HE FHERT I fROT R Aem ¥ Tdhue O S|
ot & 9rqg i S @ @ 59 g S TH H WA
Fed 21
33. i feuw T U w9 #9 e g T
2| UK TH HIT I T HEAT &, T & I8
HHTIA: AT a2l o |1 Hel T8t @rar ot ik
iRt org TeiRa & § o fea & freet & @
W W IR 3@ HKUT HT Allcher ®T 9
ST YT §
I : YN WS i 37 HASRE § A Teh §
T Uk AL I TESWIH @ =RA
Hrar de gfierr St 8
I -Wifgat & fag ywe srean siga
qiYeheT & 3R & =g« +fh
Il 95T St 3T swusar off giet
2l
(a) heret Forhe 1 SFERT 3T 2
(b) el fssd 11 STTER0T el B
(c) 1 31T & STawor & & |
(d) 1 3R II ST e 7 hed 2
Ans: (c)
*  YRE BigAl ANifed # SN S wed G st
T qfved ¢ o1 - 1 W 2
* T S 3 FASIRAr ff e &1 HeH F STER
T g1 . s 1 3 11 ST ST EReT e

forerd

34. it forT TSI &1 Teh ek I &
(a) BRamom (b) e
(c) TSTEH (d) T FoI;

Ans : (c) AICH W Y H Ak JI 21 g ey
AF A, TN FHAlCH P AAld Jod, THEN, AU
TGN 1 WA, HIhell, HEITEH el B AlHged,

A 31y T H A A L
35. 7.16x53=7
(a) 36.418 (b) 35918
(c) 37.948 d) 39518
[Ans: (c)7.16x5.3=37.948 |

36. U THMER fhehe o Sooll hl 30 UhT Srerdl
& TR 35 sioeil o1 Torhar Ooar 50 Siocil o T
e oh SHTeR 811 SHeRT TS FIavTd sargul

(a) 33.33% (b) 42.83%

(©) 50% d) 60%
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Ans : (b) AR a a5 #1 4.9, b 9% & .. & T &
ar-

b-a

%cTTH = x100

a

50-35

HAd: GG T % <M = x100

:1—5x100 =42.83%
35

37. Tr=fafEd @ € &iF 91 3R ¥ Uren 9= arern
T el 3T 7
(a) T Ufes (b) =refis TfEe
(c) ToEHIfE TE  (d) B e
Ans : (b) R F U §H T qEA FEfEG o1

IR TE (Tartaric Acid) 21 Wd, Fam, b, K,
e # A v q e § R s @ A
e o, fareg, it & wiffs wfag wran S 21

40. UR Uz G uiee wawem ferde
BT U&ga ferar T or?

(a) STEHY HER (b) Tfaferar A
(c) faferam gsta (d) freree Hrofsg
Ans : (d) BICEICiCT| m Aied (Heliocentric
Model) Wawaw  fobler®  ®RA®HT (Nicolaus
Copernicus) 3R Y& far T o e iy
P SYF T G B TS T S S| SR &
ol U el o % gelt g & ek o 21 fa &
o srame & 3wl ¥ gafug ¢ fes sfaues s
TR HEEH B

41. TrefafEa @ @ 9 =+h UgES SRR
(Android Inc) T AU T &2
(a) fe fomd (b) TE &l
(c) W veaad (d) = wER

Ans : (¢) Arehed ad (Mark Shuttle worth) Android

Inc % TETH T 21 3SR 2003 H Tgh ToF R

38. IATRISH o WUh H ’M § FoW o [OC||F Hfreitn w69 & ol el 99e TR # Ul e
HifEaw a1 HIB......... T A T AT &) (Fesh) Re #ER (VeUUe aRes WK HHfhe)
(a) T (b) @ fr fod o frm @ee (feomeA an dethw fosm
(c) HAf (d) A BTFSISH Q) UgES s‘rlm‘&m. ﬁwrw@
Ans : (o) SRS ® @k § om1 @ aum B fog|| 42 TECl St W few WOyt o ww e
e o1 F B F R T T T e forenet o & waifera st st o
ﬁﬁﬁl‘@w?l W: ®qT: E@UI amﬁimig
39. U& fya a=iT &1 5 96 & fow we ffya 8 j;j EZ; N
ww bl e em = 7w Ans : (b) 9 PR 9T F g1 T4 & S THR 2RyoT
10% 3Tfres T W Fa9T fERam & grer at 2000 st 8 ¥ 2
w o wrw g A Few T s S e e
T R T 72854 =49
(a) 3500 &Y (b) 4000 T @ x, -, + ®) + -
(c) 4500 &I (d) 5000 & @ + - + d + x, +
Ans: (b) WFT =P ®0 W=R% THI=5 a9 Ans: (d) & g,
Y §- 72854 =49......... ()
P><(R+10)X5 PxR x5 fasea d @ =0 (1)33LHSﬁ1TFr‘{'@%f1T{-
oo 10 200 LHS=72+8x5+4
SPR+50P SPR _, _12 504
100 100 8
=9x5+4
SPR +50P — 5SPR
50P 2000100 4. WelteR & ST WE S H:
Too = 200=P=—0/ 29 2 13 11=60
P =2000x2 = 4000%. (@) x, -, + (b) + = -
(C) o 0F (d) X, *, -
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Ans: (d) @&, 29 2 13 11 = 60.......... () 49. el dGfgae # ugen d@onew wa feRam T
foeeq d @- oar?
LHS=29x2+13-11 (a) 1951 (b) 1953
~ 5842 (c) 1955 d) 1957
—60=R.HS Ans : (a) 9RGE SfowE § gen dwred 1951 F fR
I foeT d e @ T ATl 39 TEIEA 5 & A9 3R 31(F) I 31(T)
45. Toefetiad § @ S W T HT=a g GIel e | |79 A6 S S e fe e A qfy e s
o I §7 ®H A T & S FH| ARG F GEEE 26 S 1950
(a) e (b) T I AN AT ATl TEAIH WA A 26 AR 1949 FH
(c) I (d) Fe= Gferem it iR foham e e
Ans : (b) 13 ®H 1781 # faferm gvfer 3 giw]|50. e QU U U wem o W1g % frswe QU e
(Uranus) 1 @ISl | ZAF (Uranus) A g7 9131 4 2| USRI TH HIT I T AT &, T & I8
ATl UEel 3UNE &1 I8 EAR Wrwvsd # g ¥ g 78 HHTE: AT G261 o |1 el g @ & 3iw
} M F SR W A SRAved &1 AW S9r i it =g FrerfRa s € i fag o frewef & &
S % SR W S 5 €1 T el ga 7w oA T W Pred 3@ wad @ amhe w9 9
Fed & A §Gh 27 ST €| SR FAT
46. YNA <k TS Yl o TR, ....... 2 FOT ;RGNS Ee S aE % wm §
(a) T 2 Tt W Sufigan wt eweted
(b) arf%fm-;azsﬁ e
() oSl e oA P ; 1 REETE S srgsrdh safaaT
(d) foTeR e = st 3 e &
Ans : () WA P UL I IR TRST & Ffa fr I waw ok f srefreari &
F wag g1 A F oA ®T H G 1962 H oRah N
fordd dhe eAa B der] A § W& T 971 36 T g &
el WSS U § 1963 H faRmETRIE % U (2) et i 1 ST A 2
e g ) (b) WW}IWW%
47. 240 TEGA N A GoA 160 T % T © Iﬁnﬁwﬁ.ﬁ%' ‘
gea % wwac gar &, W v ghvE @ (d) 1 R II ST e T e & |
=) ‘Ans: (a)WﬁWﬁIWW?I ‘
(@) 33.33% (b) 40% 51. Toafa o yeRtoT St SITeT TTHAT ST 8-
(©) 50% ) 60% (@) 3x10™ WeyFHE (b) 3x107 HeyHhs
Ans: (c) A% a a6 F HJ To7 b oG F FHT TA F (©) 3x107 #eyFhe (d) 3x10°HEyHHS
a-b Ans : (d) fafa & shrer & =1 () 3 x 10° Hygo B
TR R W 5 T == =100 é|aé;aéwﬁwﬁﬁni)méaﬁmﬁaﬁ
. vy o <2010 P oo e
80 100 (. a.)
= Te0 100 =T =30% |, TEAHIEEE - 1.96 x 10°
48. ToeAfoTaRad § @ w19 |1 WRA oAl Ugell Gul 2. & - 2x10°
HeT 7 3. dRdH d@ - 2.04x10°
(a) PARAM 8000 (b) Vikram 100 4. 5@ - 225x10°
(c) EKA (d) ANUPAM 52. @ ekl ol Weh HEAT o 3ieh! T IIT 11 B AfE
Ans : (a) TH 8000 H-2% FW fafad wRa & w@xeh 3ieh % T IMTH § SEer R W@ § @ g

R F H TH @A g1 W JTer § AT R
F, -3V 8 19 fqamr 2016 F HeF IR
LN AR % FWT fRe T

63 THH B WAl §1 €& A HAw
(a) 83 (b) 92
(c) 29 (d) 38
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Ans : (b) 1 T & &, HI b x qUT 3. H b y @

o HET=10x +y
IRATTER-
x+y=11l...... (1)

g 10y+x =10x+y—63
9x -9y =63

X=Y =T oo (ii)
x+y=1l....... 1)

X=yY =T (i) (Ssd W)

2x=18=>x=9, y=2

AT HA=10x+y=10x9+2 =92
afe M614, 11 | fausa &1, @f @a@ Bt
YTehiereh GEAT M ohT U ATA hifsTal
(@ 5 (b) 6
(c) 7 d) 9
() M614 11 ¥ forvrsg gmm afe-

(fomm 37t &1 IIT-TH A FT AT)=0

(4+6)-(1+ M)=0

10-(1+ M) =0

1+ M=10=> M =9
frafafiga Wwmfeat @ @ @ o 9Ra 0
(wma 3ir gl & wed ¥ ) wed o Yot w

Tetdt 87
(a) TEHEMR T (b) T THE
(d) < TFEsd

53.

Ans :

54.

(c) faa® wamg
Ans : (c) 9% TFEE AT & Jeah W T 24
F T el 71 Id T A 201112 F I SO H 37
Temfedt &t S #2013 H S @9 aret @
fodeT= 1 1508 SN H 79 & fIC ¥ 29 JE g |
foreieh TR 9RA 1 e o gl o W el 2 2

7 foqme ¥ Fgurll % & TR T A 2|
55.  0.00056:0.07 kT TUHT it
(9 0.08 (b) 0.008
(c) 0.0008 @ 08
Ans: (b)
0.00056 + 0,07 = 2:00056 100000
0.07 100000
-0~ 5008
7x1000 1000
56. WA T WEH oG AAT G- 1 Ha o7 HS,
Tl W et feod €2
(x) Tl (b) W ame

(c) STEUME SR
Ans : (c) T A3 9RG & STEUMEA YW H fom s
g 93 21 I8 WNG & el 9l dilg 63 81 @l &
T Hed & 1% favd F g 9o 9 WS 2| T
qaT 44 7Y § qE w6 % e Rad 21 39 1680 §
T AT oS TR S ST 9

Ife GIFT &1 &S HHGS § @ WATER ol
IS AT 7
(a) XZUDS
(c) XYUCS
(a) f5r 7R,

57.

(b) XBUFS
(d) 0zSDQ

Ans :

WATER—>XZUDS

1
31 WATER &I &€ XZUDS &1

1885 W, RS ST DT Y TATYAT fehieh
BT &Y T eft?

(a) TeH SfiFfaas &m

(b) WY TF K

(C) HIQ*II"II3:|§T’T°|7Q1IH SISl

(d) Sifst gt

Ans : (a) UoH feefama =@ fafewr #refa ara #
fafaa Sa1 & s wd USHfS gEURs 41 3 adE
T HIF & TS I T HIY & g 98 W |
TR HIIG ) T 1885 30 F foHam o

59. Ueh TTSch ohi oIS 6 WIT & 31N SH! WoTS 3
HiE et 1 IHk oG I8 T TR wher A
AR i WBTE i SaTs 42 WIS =t a1l g
TheT ohi FART ol &g AT i)

(a) 80 ®iC (b) 72 Wi

(c) 84 BT (d) 76 wie

©)
D
A
A6F
C—3F B
F 42F E

T T & ARG H A = DE
THsY AABC & ADEF #-
AB BC 6 3
—_——— S —=—

DE EF DE 42

6342 _ oy ons

58.

Ans :

= DE =
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60. IfC PAST <At @IS 18-3-21-22 TeRarm o € av
PRESENT T IS EITI-

(a) 18-21-7-20-7-16-22

(b) 18-20-7-19-7-16-20

(c) 18-19-7-20-7-16-21

(d) 18-20-7-21-7-16-22

Ans: (d) 59 5HR

PAST—>18 3 21 22

+2

+2
+2

+2

3T JhR
PRESENT—>182072\1

+2TTT

+)
+2
+2

+2
+2
+2

+2
37d: PRESENT &I &g 18-20-7-21-7-16-22 &I

61. 32, 34, 35, 36, 35, 34, 33, 35, 33, 31 9T 37
T IgAE ( mode) AT §?
(a) 33 (b) 34
(c) 35 @ 32
Ans : (c) @@ 2 32, 34, 35, 36, 35, 34, 33, 35,
33, 31, 37
- 3TIHA § 35 P TRIRa el 3 7
T TEAF=35
62. Af Z =26 3T PAT =37 af PEAL =
(a) 34 (b) 35
(c) 33 d 36
Ans: (2) & 2,
Z=26
PAT=16+1+20=37
3@ PEAL=16+5+1+12=34
63. <fm o, frafafiga vife o 9«9 @1 9 T

ST Eiek & W gook W URT 9T § dlfeh I8

T A€ o I UN ST A7

(a) e wiie (b) gfa wie

(c) SRAGTRA W (d) o
Ans : (b) Sf7 ¥ie, 2f@ & ws e @@ &1 R g
® verHd el MY ¥ Wern W @ R W Wi W *
Fa gt 1 AT T2 F Hla fgd Rgardt &1 T a6
T Gkt B 2|

o (v = 64-66 ) : Treferiaa
AT=T T 3 T AR Yo=1 & fIq gamr =
s, o, form, ea iR woem ww ufw @
3 T Formr 3R gew weft wew W T O
Herd 81 ¥ der T w T 9% weRan i e
TesTT o T8 Tl | ey o) U i fermr &

TehaH 18 3 AT 21

64. ST A BT
(a) A (b) @ed
(c) (d) e

Ans: (b) Tt & d37 &1 H9 7 THR 2 T
CEE 1 O

fom sfe
A F ge et 21
65. Tafafga o & i A1 9l &2

(a) Tl a6 § TR WM W 2
(b) et AT ¥ g WH W 2
(c) ¥ amd & wgar 8
(d) et ad HH W 2
(a) 3 AT T TR WE W 3 |
Frafefad ¥ @ R Teell st oY =fh &
fereepet ST sTet o &3t 872
(a) e, W (b) &, s
(c) o, #e (d) #ad, A
Ans%: (b) TEEN Ak ¥aF, TR s 9 & fIopa I

|
e | S 3ter an forew 39 =
(a) Wi (b) et
(c) A (d) @EgeH
(d) TEEISF Pl SIS I AT AH T 2
aTTfeet 3 et ' og 3TRA WX et ok fuaT =t o
& FeheAIdT g B1'' 3TAT AT AT FaeT ek &
aE &, o 9% 3iRa onfeer ¥ fore wehR @
Hafa &2
(a) &=
(c) st
Ans: (d)

‘Ans :
66.

67.

‘Ans :
68.

(b) =
(d) sroft

areft
ARG U Wy g T oAfed & wdisT &1 o st & A
g et aeit smfee &t sl @t
37: 3N affee & e 2|
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69. 3fARer T HIA ATAT YA WA chl &T?
(a) 3T IHT (b) AT TFA
(c) T wegr (d) e ffereg
Ans : (a) 9Rd % Ued AR fava % 1384 iRy awh

THI M G| AR 9 13 S, 1949 H UGS F

T HAHT FEFA 6 Uh G AR AIH & siaid

TohT TET 318 o e Sk § w1
AT & B T T YT &
(a) TR A (b) TSR
(c) MR feeeH (d) FH Tlue

Ans : (b) TS T A ISH TH TSR H AR B,
fSTeht T4 T B el e W died (8% H) &
fore 2 81 a7 &€ foh & 9R 20 3R Mum i fie
A 21T P AR T IR IR H AT g A3
T FET T T GHA 2|

71. fr=fafga @ @ @ ot smeRwrEmet firent
q' o e w87
(a) =AY Tt (b) TR et
(c) TSIeT Toredt (d) Zsdre Tererd
Ans: (c) TSI¥ST AHUSH R & T TNHUSH 2 |

TSl Ao Aved § Rgd g1 ugmer SffaeR aRgs @
ST BAN SMHI T & g e @1 39 omEg & Uy
B sl o &G H @ S bl 21 R AW GRS
TorpA UEHST & AW W W@l T @1 Ughel wHe
U H GO T A Y 2
71, e B ow w fm fEe
TIAUTITET el SEAUTe feham |TaT 37
(a) = (b) =R
(c) ®: (d) =ma
Ans : (c) TR H G = F U 6 ufvmEr &
ZETe fohar sr 21 g9 uR dief o & fawdt ufvwEn
gdt & e ARE § (difsTe W, detd WY,
qhAfeR ey, WIReR Weq) @ 21 e R &
(ghfer arfsrss Ueft, Swifer sifsas Teft) & 21
73. A i SR W AU 3:2:1 § SR Ak AT
T STET 72 ¥, A Tl ST AT T a1t o T g
(a) 576 (b) 24
(c) 2304 @ 72
ns: (a) T HEAST A FIE=3:2:1
Wﬁ'@lﬁk,Zxaxél
TEATTER-
C3X+H2Xx+X
' 2
= 6x=72x2
72x2

=72

x =24
x> = (24)* =576

ufearen # g a1 1984 H ISRO R Wifead T | ||Ans

74, g+ mrAd T x’, STt s, xwT
aref & ‘4 'aﬁ1‘~'a;raw‘%‘ ' arfreattr &
e i TTUET hi: 23 +5 x14 29
(a) 120 (b) 127
(c) 129 (d) 124

: (a) & 8- =9 23+5x14+9% =l i FEeH W

=23x5+14-9

=115+5

=120

75.

frafafaa @ @ @9 91 & TRNUEE & o
g et § & T T ¥?

(a) AT M F SR (b) T S & e
(c) Riffized (d) Ty

(d) THE F THUEE UE & gaifue fawfad 3

Ans :
g1
(i) R F9 - S AT 4 FUS a9 qd A T H
sifem =wor § & f feemed # safa g, = 7 gfn
(ot 3 wem emfeT) & d T QA g (TR,
ufrn) % ‘enfe s el T

(ii) T S — SFANIHT & SHEed § G =erdl @ 1%
Y 3 AFa & 99 W 3 FS 9 @ ] @ a9 g
9o g3, 9= ‘e &Y’ &= m

(iti) AFE FY- R HUA S AG QOIS &k I B
T TR T

76. Uk GHMER o A3 a&] &l ®iFd 1280 U
3ifeRd @ IfE 10% e o & g ot 30w
T TR 20% T AT EIT ¢ o I ol v ToT
BRI
(@) 1120 & (b) 960 &
(c) 1000 &7 (d) 940 &G
Ans : (b) AT I&] &I H0H0=x O
3ifRd 40=1280%, BZ=10%
& I f6070= 1280><100 10
—1280x 22
100
Y 9-
x=l280x9—0xﬂ
100 100+20
X = l280><2
120
X =960 &0
TT.  eveereerrsennns 4 & Y U W= At aw:n%’r
FHST AT, T Mcenieeienes I % TUE el
2l
(a) 3THSH (b) =
(c) e (d) T
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Ans : (a) 3TN 7€ & I U W 9l Sl gaqe
TE T IS A H G ol @1 gEeT e 3R
WS A4 gear &t wddt & fafm WO W yaifed s
el AX WU H TH IHE FT O SEER
33 7

78. ‘wramrard g ix’, - awTeref R, x awT
e 4+’ AR ‘s ared § - iR &
o st TUTT i 64 -4 +8 x9
(a) 136 (b) 137
(c) 138 (d) 142
Ans : (b) & & =oTH-64-4+8x9
o=l & T8eT W
64+4x8+9:67fx8+9
=16x8+9
=137
79. Uk WHATE (IS 39 YR ¥ SN T § TR
Brae & & ¥fid T g9 % =W W e ®
gfe g9 &1 YIRS 641 &, A BIYST W o
T i ?
(a) 16 (b) 8
) 163 d) 83
Ans : (a)
I T H0=64 1
i’ = 64n
r’ =64
= r =89
THE A I ST i T0=g1 1 SAH=2x8=16

80. fo=faaa ¥ © fowrear wamT ot =t wemelt

HIIAT SRl T A o T feparm < wehert €7

(a) HfETT FET

(b) TR wHTE

() FAL

(d) T

Ans : (a) 9IfST0 FEMS Th T s 7, o

THES I (Na,CO,) 21 39 1a HieT a1 €4 &1 HieT

ot e 2, Foreh Sefia siiet el 2T 81 Set S Horar

F W FH H THH ITI B 2|

81. 5 WieX aur 10 WX & I T wHE W e
e ¥ e Ul & ofter w o 12 W g @

(a) 11 WX (b) 12 HreX
(c) 13 HieX (d) 14 #HeX
Ans: (c)
D
t
5T,
A A 1 Z]ﬁf E

AT el o St % s @t gl = ADHo
AE = BC =12%0
DE=CD-CE=10-5

DE = 5#t0

AAED # U3gTIRY Y9 G-

AD? = AE? + DE?

=(12)" +(5)" =144+25

AD? =169 = AD =13 Hl0

82. UM & UNURS® WA ® U 2 ¥ fehad
faest g &7
() 4 (b)) 5

) 6 @ 11

Ans : (a)ﬁﬁwﬁwﬁﬁmﬁiﬁmﬁ@?ﬁ
¥ s AW # 4 gEHAR B9 §

83. If¢ BANANA=YZMZMZ df COCONUT=

(a) XLXLMRQ (b) ZLZLMRQ
(¢) XLXLMFG (d) ZLZLMFG
Ans: (c)
59 gohR

foada
BANANA&¥ZMZMZ

T

Cd

34 THR,

faudia
COCON y T3 %Tx M

>
&

4

S
-

39k vitef o e @t gl J &t

31d: COCONUT = XLXLMFG
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84. U WRSh T TS Teha=T BT §7
(a) YRR & Fo TS B ATHT 2%
(b) TR & FA aoH H AT 8%
(c) YRR & Fo T BT ATHT 12%
(d) TR & FA aSH F AT 15%
Ans : (a) U9 AfTsh dfE SRR # TE 9 e
2, St RR &% HFem AWe 8s § W< o ¢l gud
HITRI o GE e ey @ | AME A4iksh
T 3Gk TR &k oA IS H AT 2% (ATHT 1400
A1) T 2
85. 6 |dt, 8 4w, qur 10 |, & feRAR AT A
o Torere™ @ 97 o= o S feRa-t grfi?
(a) 13 (b) 11
(c) 12 (d) 14
Ans : (c) = ¥ I A™FdI= a’
GIGIRCGIE! C*>3r|'<’2l?17{=(6)3 +(8)3 +(10)3
=216+512+1000
=1728 THPO
T B qen=(1728)
=(12°) " =12 o

ufeshe TheT W A HH ATl g
veelt wiger i oft?

1/3

86.

89. T ® ¥ == wt fiy =t =t wemew A T
77
(a) =9 (b) el
(c) @Ta (d) e

Ans : (c) T9A T A F WEEH AN g1 T TE

“FHTE Tdd”’ 7y ¥ feedt @1 gEer g AW
“THAT” &, SEfh S Heerst iR el fy & weres
et 21

90. (3/2+5/3) +(3/2+42/3) & |IA HU
(a) 1 (b) 19/13
(c) 13/19 (d) 13/16
Ans : (b)
[3 sj (3 2) [9+10j [9+4j
—+= |+ =+ | = + —
2 3) 2 3 6 6
19,13
6 6
19 6 19
= —X— = —
6 13 13

91. ot et HEATRH % folg f | | i AT Wt
7?7
(a)
(b)
(c)

12/43<32/67<45/81<22/55
12/43<22/55<45/81<32/67
12/43<32/67<22/55<45/81

(a) Y& N HEIER (b) TASEY sciehae
OREREEIEEINI (d) S e
Ans : (b) TATHY sihdd AfSshel T T T S
arett faea & wgen Afeen of| el Afen & w9 H WI®
Tg # Afesha Ioff W B F TU-HY STRA AfSHA

FiTa % MR W vgell Al |
87. Torm Tafes stfufsmean o e difites s &
fag @ =ifiewt & st aveg o STEAl @
Tarforoer grar &2
(a) Sfcremas sAfufshan
(b) et fawemaT sifufspan
(c) YST wfafsean
(d) vt G Al
Ans : (b) fafareamam sifufsear & @ stem-stem oA @
TRHIY] % G 1 AGE H SAEH-TEH Tl 21 A -
AT AT b FTOM N GAET & T R F ST
et 1 Fmfor B gU T B TR Tael B 2

88. frafefae wrelt # @ ford g=ifena At feman
T HehaT &7
(a) TUER T (b) ETH FTS
(c) T (d) HITH HTS

(d) 12/43<22/55<32/67<45/81
Ans: (d)
12 =0.27, 32 =0.47, 45 =0.55, 22 =04
43 67 81 55

43 55 67 81
027<04<0.47<0.55

a1 d faded @ R
T EHT 30 9 | 24 99 9T ¥l OW |
WE SR WY AN oSt IMG A ST A
St fore @t aduT Sy W §7
(a) 40 T8 (b) 44 a9
(c) 42 =d (d) 48 Td
Ans : (b) A fo@r & a0 3= x a8

oW F FH = (x —24)
4 7 o= fomm & o= (x +4) T
qI0 4 a9 o= o W AI=x-24+4=(x-20) 7
TAER,
x+4=2><(x—20)
x+4=2x-40
2x—x=4+40
x =44

12 22 32 45
<

92.

|Ans : (d) FIE FSt GHafET T e w1 v el |

37 e & oA og 44 9 2
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93, fehew wog o U SFWIT wWE @t QA A
Srft, Ofe g WAWur ST et 6.25% et
after 20 | Frar & = 1
(a) 12 a8 (b) 14 =%
(c) 18 = (d) 16
(d) 5T HeTEE = P ®0, 10 &A1= P €0
W=6.25%, Hg= nad
10 w20 EOE
100
1):P><6.25><n
100
100xP 100
T Px625 625
n=16a%
T 3 et I B we @t °f % 99T @
AT ST g1 dr R R awer i @
Teifira &2
(a) foar
(c) st
(@)

Ans :

94.

(b)

(d) wm

Ans :

3@ § Wy g fF & F 95T & of &1 ofq g% 2
I ST, T e 21
95. g fomardt sitg feg o= 2™ & T T &
®Y ¥ Tehlghd fehra?
(a) ITH FTEH (b) TET AT
(c) TENT eI (d) = s
Ans : (b) T AW (1594-1651) T foesdl alg
fifg (AFM) 41 3% LW H TH AL T & &G H
THPd B N 9T A 21 3¢ e Tepa H et
Tepla 9 fade & & forg off St S 2
96 WA w fvT a8 ¥ fay wWrear @Mea g
Tifera T 29T et gt ¥ frewter femm wan?
(a) 2012 (b) 2000
(c) 2014 (d) 2008

Ans : (c) Fove @ §eT 3@ 27 AW, 2014 &
TG S iferal qoh <27 =fea fohar T
97. Tr=fefed & | A & YgUU o1 Teh JHTE

& 22

(a) 3=d THAMT

(b) fefaew

(c) #avT g™

(d) = AT
Ans : (d) & SEE0T § 29 Al gwerd e § e
Faul Wth T, 339 Wl U, T A9 H gfg, Al
EE A1 & bd § W@l o1 A A wguor g
g 72 21
98. oUW ITITTS hl ITITEIT A Var-rg= et

Y -

(a) 62

(b) 65 ad

(c) 58 ad

(d) 60 a%
Ans : (b) TTUAH AT & AN $ Jartgy #
g 65 a8 B &1 e F hae HEET % f4g
g9 W TGS & A g 5N A fRE sgHd ¥ uia
TEAE o SMER T & TR SR g S Fehell B |
99. P 3R Q Us WY Usk & 12 fet W g1 o
Hehd §1 P 3Tehell JEt shrd 30 oAt § ohiaT 81 Q
ITOhETT HT 1T i fehae T | T oY @17
(a) 20 f (b) 30 fa=
(c) 25 f (d) 35 fa
(@)

Q W 3Thl 3T FHM B T HH H M

Ans :
— 12x30
30-12
_12x30
18

=20
100. =Siteis o foTT 2% fehche @o ot Worg &
W & Raerdt 1 am == g, e 2015 fayg
HY &% oS T A feran?
(a) sfaa faerd
(b) s Agem
(c) wfT Tfteet
(d) S gt
Ans : (a) oiels & U 3 fhhe Wod ot 9o &9
39 & figaret e faerd & frm 2015 g %9 & =g
=g o o o
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